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SECTION I (50 marks)

r all the questions in this section in the space provided.

Answe
(4 marks)

1. Use logarithms to evaluate to 3 significant figures.

(0.5241)* x 83.59
33 0.3563

quare.

‘ 16x>+ 4x+ ¢ +7 a perfect s
By (3 marks)

? 3. A réctangular carpet was measured and found to have a length of 4.1 m and a breadth
1 of 2.20 m. Determine the percentage error in the area of the carpet. (3 marks)
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5, Without using tables simplify

4. Expand (3 +!/s x)* hence evaluate (3.025)4 to 3 decimal places.

logd/9 /

Solve the inequality 3- 2x<X

U

(4 marks)

(3 marks)
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7. Make S the subject of the formula in P= M9/ 4 (3 marks)

p and a hemispherical
he1ght of the toy is 17
(3 marks)

8. The figure below shows a toy which conﬁsts of a conic
base. The hemispherical base has a rada'us £ i
cm. Calculate the surface area of the toy. ( ta.k

9. A variable M varies directly as H and the square of r. Find the percentage change in
M if r is decreased by 15 % and h is increased by 12 %. (3 marks)
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10. Expand (3x - 7)(2x + 7) ( 3 marks)

11. Given that * /x42y="/s , find the ratio Xy.

(3 marks)

13. Given that | x-1 X+l singular matrix, find the possible values of x.

3x X (3 marks)
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14. Mr. Saidi keeps turkeys and chickens. The number of turkeys exceeds the number of
chickens by 6. During an outbreak of a disease, Y of the chicken and '/3 of the turkeys
died. If he lost total of 30 birds, how many birds did he have altogether? (3 marks)

2.4 m. It contains water
t is not in contact with
(2 marks)

13. The base of a rectangular tank is 3.2 m by r
to a depth of 1.8 m. Calculate the volume s

A

=2-3) andr= (6.9) and that a = Zp - 3-/‘;g + %,
find %ﬁs magnitude ‘ , S marks)
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' - SECTIONII (50 marks) -

: - Answer anyfive questions in this section in the space provided, ]
. 17. The table below shows the life time of a random sample of 200 bulbs taken from a .
production line of a particular manufacturer. ,

.| Lifetime | 700- | 720- | 730- | 740- | 750- 755- | 760~ | 765- 770- 780- B
(hrs) 719 729 | 739 749 754 759 764 769 779 799

Number | 10 14 16 21 35 41 38 15 .17 3
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(b). Use the curve in (a) above to determine:
(1) The median _ (1 mark)




TR R

3 (ii) - The interquartile range (3 marks)

(iii) The percentage number of bulbs that weres
the expected minimum 11fet1me was's "‘;pU" dfobe 735 hours. (2 marks)

*

(3 marks)

(b).If all distances are measurec! along the circle of lat1tudes and/or meridians, find
the distances of C from A in m.‘along the routes ABC and ADC. € marks)
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(c). Two aeroplanes start from A to fly to C. One flies along the route ABC at a speed
of 400 knots and the other flies along the route ADC at a speed of 300 knots
which plane reached C earlier and by what time. ’ (3 marks)

19.A stadent in a maths club has six identical gumber cards ;g gind five letters cards
- ab,c.de. The students ask some of the’ <
letter-card then records the outcome.

(&

e

bers to pickipns number card and one

‘{@). Prepare his/her probiﬁgﬂx% ' space (2 marks)
q la kzlasRbps B
& ‘
(2 marks)
(iii). The number card was an even number o (2 marks)

_(iv). The letter card was a vowel and the number card was a prime number (2 marks)
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(b) The table shows marks scored in a mathematics test by 20 candidates.

MARKS 2 |4 |5 |6 7
NUMBER OF |1 (4 |8 |5 2
CANDIDATES

A candidate was chosen at random. Find the probabﬂxty that he scored more than
the median . S (2 marks)

Calculate;
(i) The length of the d.1agona.1 QS. . ' (3 marks)

! ’uu,\,\uu ’Zg 54 — \qu

= \b.a7e

e

50~ JT»“’«r 1657 -
st =] Y
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(i) The angle that QS makes wi‘th the plane QRUT. (3 marks)

Co58 —
= \0
4.7
S\ = 0-4 O:l b
| e= e
(i11)) The mass inhkgs of the wedge if the density of the metal is 15g/cm3.

that 4AB=AB and E divide
OD and BE.

(@). Express in'te
(@ OD

(2 marks)

(ii) DE (2 marks)

11
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(c) The value of the machine after 5 years (to the nearest cent) (3 marks)
oS
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23. Find the equatlon of a straight line:
(a). Passmg through the points (3,2) and
/,,-i-y /b—l where a and b are constants

(b) State the coordinates of point A and B at which the line in (a) above crosses the
x-axis and y-axis respectively ' & k(ﬁ) ) t‘)) (2 marks)
) Q’ D) y =Y
| | 3;c - Y 6(0, LF)
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(c) Using the information i in (a) and (b) above, find the area of tnangle AOB where O
is the ongm S o | (2 marks)

(d) Find the acute angle the line in (a) aboye mak:

iz
o
—‘-u:

(2 marks)

<o 8 = e
24, The ﬁgure below shows a tria A i
AC=10cm.

Calculate to 1 d.p | A 1.777b

——

(a) The radius of the circle. 2 -G.0 b e (4 marks)
,qL- 1op43b — 120C0S A S =

* —

—g8 = —1zoca B
0 L5833 = O
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L1



(b) Calculate the area of the circle to 2d.p.
o, N . ’
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(2 marks)
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